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5H 9 BicybEE., 5 H 10 BICHER, B C1T - e ilE A E O R %
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130~270 umI= R 5N FELT-=,

QFBMEFERR (K1)

B DR Z T HAEOHBURIUII TREDO LB TH,

5/9 (W] L+l SRETRAND
T 150~210 ym 26.2 @/t
5/10 [#ER] 7K 20m 140~240 ym 128. 7 f&@/".
AKIE25m  130~260 um 292. 1 1@/,
[#051] /KR 20m 130~270 pm 72.2@/".
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130- 3] 23 17) 120
140- 3] 20 7] 46 6] 42
150~ 3] 21 21 152| 39| 278 17] 120
160- 12| 85| 40| 284 69| 487 26| 184
170- 14| 99 40| 284 118 835 18] 127
180- 5| 35| 44 314 89| 626 6] 42
190- 14| 10.1 46| 325 6] 42
7 ["200- 1| 07 14| 1041 20[ 139 1 07
7”_7_ 210~ 2| 14 1 10 3] 23 1 07
5 | 220- 1 10 7] 46
4 | 230- 7] 46 2| 14
240~ 110 0l___00 1| 07
250~ 3] 23
260~ 3] 23
270~ 1| 07
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&t of o0of 37| 262 182 128.7] 413] 292.1] 102 722
ZTO=KE 31| 219] 132 934| 77| 545 152| 107.5| 896 633.8
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ORGERHEHER (X2)
AR OKIR, BWTIE RO ERY TY,

®2 RIEHERR

e TR I
FE| E T 20m 25m 20m
m |7K;B°C| KB °C|IK;B°C|E 2 psu| /KB °C |1 Hpsu| KR °Cl1E 5 psu
0 7.2 7.2 7.5 32.8 7.5 329 6.0 31.6
5 - - 74 33.1 71 33.3 56 32.8
10| —- - 7.1 334 7.0 33.3 49 32.7
15 —- — 6.8 33.3 7.0 334 59 33.1
20 —- - 6.6 334 6.6 334 5.9 33.1
5] — | — | — | — | 65 | 334 — | —
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0 RO4 —=—R05 -@—R06 0
4/1 4/8 4/15 4/22 4/29 5/6 5/13 5/20 5/27 4/1 4/8 4/154/224/29 5/6 5/135/205/27 6/3 6/10
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Ofthith X D15k
5/9 PR [E 140~270 um 53 &/t
S 150~260 um 78 1&/".
5/9 {#EE 140~240 um 13.4{&/".
5/4 RH 130~205 um 62.9 &/*.
5/9 = 140~210 um St 26.8 &/,
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